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Entertainment allowance to government ~employvees is exempted, which is
least of 20% of basic salary or actual allowance or

a. Rs. 1000 b. Rs. 2000

<. Rs. 5000 d. Rs. 20,000

Business has been defined under section :-

a. 2(14) b. 2(13)

¢ 2(10) d. None of the above

Adoption of the presumptive taxation scheme of Sec 44ADA by a person is liable to
pay:-

a. Sales Tax Corporate Tax

e

¢. Advance Tax . None of the above

Capital Assets excludes all assets except:-
a. Stock in Trade
c. Jewellery

5

Personal Property
. Rural Agricultural Land

=%

Exception under section 54 is available to
a. All assesses
¢. Individual as well as HUF

g

Individual only
HUF only

e

The amount of Dividend received from Corporate Society is
a. Partly Taxable b. Exempted
¢. Taxable d. All of the above

Which ITNS (Income Tax New Series) Challan is used by Indian Taxpayers to deposit
the tax collected at source?

a. JTNS 284 b. ITNS 283

c. ITNS 282 d. ITNS 281

In case of an individual Assessee , the return of income must be signed and verified by
the following, except:-

a. Spouse/ Partner b. Individual himself
¢. Authorised person in case of absentee  d. Guardian or other competent person in
individual case of insanity

How many Alpha Numeric characters are there in PAN Card?
a. 7 b. 8
c 13 d. 10

How can you identify the type of PAN Card holder from looking at the alpha
numerical sequence?

a. By the 1% Character b. By the 7th Character

¢. By the 4*h Character d. By the 2~ Character

A return of income when notified as defective, has to be rectified within:-
a. 30 days b. The financial vear

¢. 15 days d. 60 days
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(Degcrigtive}

Time : 2 Hr. 30 Mins. Marks : 50

[ Answer question no,1 & any four (4) from the rest |

1. Define Income tax. Write down the names of the major heads of 25+25+5=10
income. What are its advantages?

2, a)
b)
3. a)
b)
4. a)
b)

Mr. Y is the owner of a residential house which he had acquired 5+5=10
on 20th October, 2007 for Rs. 4, 50,000. He purchased another
residential house for Rs. 8, 90,000 on 28t January, 2019. He sold
the first house on 12th January, 2020 for Rs. 15,80,000 (SDV Rs. 16,
00,000) through a broker who charged a commission of 3%.
Compute the taxable amount of capital gains, if any, for the
assessment year, 2020-21.

[Note: ClI for 2007-08: 129 and for 2019-20: 289}

Mr. Z purchased 1, 500 shares of the face value of Rs. 10 each on
12.5. 2017 at Rs. 9 per share and paid Rs. 1200 as brokerage and
other expenses. He sold these shares on 20.3.2020 @ Rs. 16 per
share and incurred Rs. 18, 00 as brokerage and other expenses.
FMYV of these shares on 31.1.2018 was Rs. 11 each. Compute his
income from capital gain for the assessment year 2020-21

Define Income from House Property. State the essential conditions 2+3+5=10
to be fulfilled under the head Income from House Property.

Mr. B Lahiri of Lumding is the owner of a house property in

Guwabhati. The house is let out at a rent of Rs. 12,000 p.m. Its

Municipal valuation is Rs. 1,00,000 p.a. and Standard rent is Rs. 1,

10, 000 p.a. The Fair rent of the house is Rs. 1, 12,000. House rent

for two months is outstanding and there is no chance of its

recovery as per rules. Municipal tax paid Rs. 7,200. Compute the

Net Annual Value for the Assessment Year 2022-23,

What do you understand by the term Gratuity? Discuss the 2+3+5=10
amount of exemption in respect of Gratuity.
From the following information furnished by Mr. X, who had
retired from service has received Rs. 16, 50, 000/~ as gratuity from
his employer (covered under the Payment of Gratuity Act).
Ascertain the taxable amount of received from the employer.
Other relevant particulars are:

I. Date of retirement 30.03.2020
IL. Basic pay as on 01.03.2020 (being date of retirement) Rs. 89,000
III. Dearness Allowance Rs. 15,000 p.m.
IV. Period of employment25 Years 4 months
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